&(viv{j ar:adm{ics E\J ﬁztoréza{ion

Sove x*-2x-15=0

Fd He voks of 2E418L -4 =0
For whidh 2 do we have (z2+2)(2-3)=-4 ?

Solve S5x* -y -10 = 3x* +5x +24
fnd ol p {or whidh 3p2-2 = 5p

Solvee -6+ 2=0



&(viv{j rtmdmﬁcs s\j ﬂzbrézajcion

&b =0 = o a=0 o b=0 (0F both)

(x—L)(x—‘—}\:O > gler x-2=0 & x=1
5r X-F=0 w =+



Olving quadratics torczation
Jt Ej 14‘ chade

Sove 2*-2x-15=0

R x* —zx-15 = (e +o N+ b ) | =T
_ 2% -2 — 15
AT+ A b +ab —q+4-15 =0V
= X 4—(0&)1 +alal
Necd 0\|L> hre arb =2
Mo = 15 15 = t1x1S
} )
54(2) =2 X
xXt—21x 15 = (-
(x=5) (>+3) 5)+3 = -V
L
X-Lx -15=0 & (x-5)LFRN=TO
Ve Y~-5<o e =
oR
‘e x="3



&M'{j T’Ladm{ics 2\) ﬁz&r&zaﬁon

Fod the voks of 284186~ ik =0

L*+a -22 =0
_ aro = 9
(£t + & E+L ) =0 ab =29
(E-2)(E4+1N =0 Ivra
2 51
{:—Z:o e -e_/:L 2 -(—(-u):—‘l?(
°r 2+ I = 9 vV

&E+11=0 v _é___,”

e —3



For

&(viv{j adrotics E‘J ﬁunza&;on

which 2 do we have (z+2)(z-3)=-4 ?

Chath

2t -2-6 = -¢

z*-2z-2 -0

(2 -2 )= +1)= o0 Ath =

Z-2=0 e T=12

—

or

Z+1= 06 e 2= -1

(2+1)le 2y = Gxl-y=-¢
Z=-1 : (?;4'?,)(%—3): T (-¢y= —¥ ,/



&(viv{j ttadm{ics t\) ﬁf,orézajcion

Solve  5x*-Ax -10 = 3x* +5x +26

-2)(}'»51‘ 2¢ —3xt ~5x —2¢

2%x% e -3 = O

25— 2% <18 = 0O

atb =-7
(X‘I'LXX—O' ):O o = - \§ [xL§
2>g
X+2=0 € JC= -2 -2+ = ¢ X S>~¢€
or:

’=q =0 e A=A

2+(-a)= -2



&)(viv{j rtmdmﬁcs E\J ﬁbr&za{ion / /
Find all p for whidh 3g2-2 = 5p — >

SP-L:_EP _& —_O \>Z

@/7“

F e p 4 ) = 3 sop g o

N = 2t (weluyp vk

(p+D) (p-2)y=0  Arfb=rs
ab = -2
Jr=o e Ly L
e pP= ¢
— 2 |- -
of M -s 7
P-L =0 e p="L U 2]
— 2 1




d 2

&(viv{j T’Ladmﬁcs E\J ]qt{oréza{ion \ q=Tpt-v
/% .
! \ S

D
bnd ol p {or wih 3p2-2 = 5p y=5p
Sp b
3pt-5p -1 =O Tactor e
( s o polynomicd
L(p) =3p*- Sp-2 Ao s~ Py
_F ~ L _ 4o L_[(a\\:o)
(O) = 0T -S¥0-T = Hren y S/
fiy- 2-S-2 =-¢=#o v a\fv\dﬂf of {lx)
—p(—']\‘, 3+5‘l’,é:{;0 32_
_ _ Po-5p -2=°
flay=h—-10-2 =0 / [P0 G pany =O
D2 S afrddor of £ p) S
2 (&
3_8 -5p- 2 =(p-(&8p+1 ) "SPM o e



&)(viv{’ cﬂadmﬁcs e\) ﬁzf,orézajcion

Spvee -6+ 2=0

ab = 2_
x4+ = (xa) (L) drb = =
%\\
+(-2+0 1
Nl +<-g/+ut:§&\<fi-ﬁ\ ! 2\ 3%
~—~_

LA S T el i/

\(

L>3~V?/ =3+VJ7F — Xt —bx +A -}
— 2t —bx +U




